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N = 0 &8 AF S & Al A
20139 &= 20fla LESIH DGR ~ IS XA
2M: IR
X‘liH XA]|O—I%I- §|.
Sl SAI|Y 245 XA (oA
- _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
I X2 37,092,350 51,806,359 A14,714,009
2 21,000,000
o= 16,092,350
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307 2I2t01 & 302,200 270,000 32,200
02 It AB X 252,200 220,000 32,200
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04 QIZSHALE X 50,000 50,000 0
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sS4 ZHIEH X2 150,000 260,000 A 110,000
306 &2 150,000 260,000 A 110,000
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SN

JI X2

E: e MY 25 N
Sl LA A= DY X (el &2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko HRs2
e s Jlg Xie 24,556,000 39,669,109 A15,113,109
z 21,000,000
= 3,556,000
JIgold B2 24,450,000 39,500,000 A 15,050,000
= 21,000,000
= 3,450,000
403 AHXIEHH S X201 ™ 24,450,000 39,500,000 A 15,050,000
= 21,000,000
= 3,450,000
01 RXISH =2 E 24,450,000 39,500,000 15,050,000
ONLENEINEXZ (=) 23,700,000
& 21,000,000
& 2,700,000
ONLENENEXZ(HI=EH) 750,000
SZEYBAIEL2YY XL 28,000 28,000 0
308 X+XI €IS 01 & 28,000 28,000 0
08 JIEtRE = 28,000 28,000 0
OZF&Y BUELY 29 28,000
IR E28s Hst 50,000 110,000 260,000
306 3 50,000 110,000 260,000
01 &2 3 50,000 110,000 A 60,000
OJIERXLEES 50,000
=X RFA 28,000 11,000 17,000
201 B2 HH| 16,000 6,000 10,000
01 AtR 22|t 16,000 6,000 0,000
OsxRXIA 2% 3,000
OJlgwx g2z M 10,000
OSXHe S (MoU) 2 3,000
202 044l 12,000 5,000 7,000
01 S LA b 12,000 5,000 7,000
OJIgsx g2x=& 12,000
MWEESOIGX ) 500,000 500,000 0
LHEHHXI= 500,000 500,000 0
SAIILEL 0IXNENS ME 500,000 500,000 0
R2IISHEZ 500,000 500,000 0
01 JISdEZ 500,000 500,000 0
OZ2JIY8HIIZ 2H3 500,000
MEEs 350,000 350,000 0
28X= 350,000 350,000 0
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I WHRESs

&el BE8XE (el &
SN B SR(BH) - NRAY - BES 0fl & o e HRS2

LR SDNE DN 350,000 350,000 0

311 X =0l Ktatat 350,000 350,000 0

01 Al - EXISOHE DI =X =01 AHaf & 350,000 350,000 0
O'09 JIg0Id EX3 350,000

HH2EZHI(OILRZ ) 63,300 66,900 23,600

Jl=&H 63,300 66,900 A3,600

Jl=&H 63,300 66,900 A3,600

201 dEt=2 S| 30,300 32,100 A 1,800

01 At 22l 28,800 30,600 21,800
oJlglzges=a 28,800

02 3244 1,500 1,500 0
OZZR2 % MM S 1,500

202 O4Hl 28,800 30,600 A 1,800

01 2UHOHI 28,800 30,600 21,800
OJIENEHL= 28,800

203 B =2l 4,200 4,200 0

04 FEA2EHR=LH 4,200 4,200 0
OIS X & 4,200




